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Note :— Attempt four questions from Section A, each will carry 5
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marks. Attempt two questions each from Sections B and C,
each will carry 15 marks.

SECTION-A

. - Corporate farming

Sources of agricultural finance
1956 Industrial Policy resolution
The major segments of service sector in India
The inter-state disparities in India
Causes of inflation in India
| SECTION-B
What are the reasons for low agricultural productivity in India ?

Comment of fixing high Minimum Support Price is necessary
but not sufficient condition to increase income level of farmers in
India ?
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What are the problems of small and cottage industries in India ?
Explain recent measures taken by the government to solve the
problems.

Comment on Indian farmers "born in debt, live in debt and dje in
debt". Exp lain measures to reduce debt burden.

SECTION-C
Explain the factors responsible for unequal distribution of income
and wealth i11 India. Explain measures for reduction of inequalities.

What are the : causes of unemployment in India ? Explain measures
to reduce uriemployment.

What are t/ ne causes of low performance of public sector enterprises
in India ? Explain measures for improvement.

Whatare the causes of rural poverty in India ? Suggest measures
to reduce ,
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